Приложение №4

Вариант 1.

1.  Вычислите:   (-5)3 • 8 •170     
                         а) -120;    в) 120;   д) -1000;   е) 0.

                       2. Представьте выражение  28 •36     в виде степени с основанием 4:
                                                     66
                                                       м)42;    н) 22;   о) 4;    р) 2.

3.   Вычислите:  ( 33)2•27             

   812                         х) 27;     т)1/3;     ф) 9;    с)3.

4.  Известно, что 2к = 128;   3р =81.  Чему равно к2- р2 ?

                                                      р) 3;     п) 65;    с)47;    к) 33.

5.  Решите уравнение: 7к+1 = 343;

                                                       а) 2;       в) 4;      с) 342;   д) 3.

Фамилия, имя  ---------------------------------------------------------------------------------
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Вариант 2

1. Вычислите: ( - 4)2 •5 •110 
                                                    а) -80    в) 80    с) 880   д) 0.

2. Представьте выражение   2 12•7 8      виде степени с основанием 4:

                                                    148         

                                                    е) 42;    ж) 24;    з) 43;   и) 4.

3. Вычислите:        8 6      
                                       4•(22)5                п) 16;   р)1/2;   с) 32;    т) 64.

4. Известно, что  5р = 125; 2к =64. Чему равно р2 + к?

                                                                           м) 9;     н) 16;   к) 15;   о) 89.

5. Решите уравнение:   3р-4 = 243.

                                                     а) 9;       в) 1;     с) 247;  д) 5.

Фамилия , имя  ---------------------------------------------------------------------------------
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